	proton mass
	0.938
	
	flying wire profiles measured in mm…e and d are the coefficients of sigma^2 for emittance and (dp/p)^2. 

	
	
	
	ie emittance (95%) = e(s_11^2)*(sigma_11)^2 +e(s_17^2)*(sigma_17)^2
	
	
	

	pi
	3.14159
	 
	  
	
	
	 
	 
	 
	 
	 
	 
	 
	 

	
	Energy
	
	
	
	Dispersion
	D^2
	
	
	
	mm-mr
	-mm-mr
	dp/p(10^-3)
	

	
	150
	h11
	82.60
	2.74E-02
	2.75
	7.58
	1/det
	2.3535
	e(s_11^2)
	49.54
	15.77
	d(s_11^2)
	-4.71E-02

	
	150
	h17
	60.36
	2.00E-02
	4.59
	21.05
	
	
	e(s_17^2)
	-17.85
	-5.68
	d(s_17^2)
	6.45E-02

	
	980
	h11
	82.60
	4.19E-03
	2.75
	7.58
	1/det
	15.3763
	e(s_11^2)
	323.67
	103.03
	d(s_11^2)
	-4.71E-02

	
	980
	h17
	60.36
	3.07E-03
	4.59
	21.05
	
	
	e(s_17^2)
	-116.62
	-37.12
	d(s_17^2)
	6.45E-02

	squeezed
	980
	h11
	80.16
	4.07E-03
	2.03
	4.12
	1/det
	10.0443
	e(s_11^2)
	280.87
	89.40
	d(s_11^2)
	-3.48E-02

	
	980
	h17
	68.16
	3.46E-03
	5.29
	27.96
	
	
	e(s_17^2)
	-41.39
	-13.18
	d(s_17^2)
	4.09E-02

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	150
	v11
	83.68
	2.78E-02
	0
	
	
	
	e(s_11^2)
	36.02
	11.47
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	980
	v11
	83.68
	4.25E-03
	0
	
	
	
	e(s_11^2)
	235.33
	74.91
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	squeezed
	980
	v11
	80.80
	4.10E-03
	0
	
	
	
	e(s_11^2)
	243.73
	77.58
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